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General Instructions :
1.	 This paper is divided into two parts: A and B. All questions are compulsory.

2.	 Separate instructions are given with each section and question, wherever necessary.

	 Read these instructions very carefully and follow them.

3.	 Do not exceed the prescribed word limit while answering the questions.

PART A [40 Marks]

READING (20 marks)

1.	 Read the passage given below.� (1 × 10 = 10)
	 The choices we make on a daily basis—wearing a seatbelt, lifting heavy objects correctly or purposely 

staying out of any dangerous situation—can either ensure our safety or bring about potentially harmful 
circumstances.

	 You and I need to make a decision that we are going to get our lives in order. Exercising self-control, 
self-discipline and establishing boundaries and borders in our lives are some of the most important 
things we can do. A life without discipline is one that’s filled with carelessness.

	 We can think it’s kind of exciting to live life on the edge. We like the image of “Yeah! That’s me! Living 
on the edge! Woo-hoo!” It’s become a popular way to look at life. But if you see, even highways have 
lines, which provide margins for our safety while we’re driving. If we go over one side, we’ll go into the 
ditch. If we cross over the line in the middle, we could get killed. And we like those lines because they 
help to keep us safe. Sometimes we don’t even realize how lines help to keep us safe.

	 I’m not proud of this, but for the first 20 years of my life at work, I ignored my limits. I felt horrible, 
physically, most of the time. I used to tell myself “I know I have limits and that I’ve reached them, but 
I’m going to ignore them and see if or how long I can get by with it.” I ran to doctors, trying to make 
myself feel better through pills, vitamins, natural stuff and anything I could get my hands on. Some of 
the doctors would tell me, “It’s just stress.” That just made me mad. I thought stress meant you don’t 
like what you do or can’t handle life, and I love what I do. But I kept pushing myself, traveling, doing 
speaking engagements and so on— simply exhausting myself.

	 Finally, I understood I was living an unsustainable life and needed to make some changes in my outlook 
and lifestyle.

	 You and I don’t have to be like everyone else or keep up with anyone else. Each of us needs to be 
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exactly the way we are, and we don’t have to apologize for it. We’re not all alike and we need to find 
a comfort zone in which we can enjoy our lives instead of making ourselves sick with an overload of 
stress and pressure.

	 On the basis of your understanding of the passage, answer ANY TEN questions from the twelve that 
follow.� (1 × 10 = 10)

	 (i)	 The reason why living on the edge has become popular, is because of the:
(a)	 constant need for something different.	 (b)	 population being much younger.
(c)	 exhausting effort to make changes.	 (d)	strong tendency to stay within our limits.

	 (ii)	 Choose the option that best captures the central idea of the passage from the given quotes:

It's all about quality of 
life and finding a happy 
balance between work and 
friends. —Philip Green

To go beyond is 
as wrong as to 
fall short.

—Confucius

Life is like riding a 
bicycle. To keep your 
balance you must 
keep moving.

— Albert Einstein

Balance is not 
something you find, 
it’s something you 
create.

— Jana Kingsford

(1) (2) (3) (4)

(a)	 Option (1)	 (b)	 Option (2)
(c)	 Option (3)	 (d)	Option (4)

	 (iii)	Which of the characteristics are apt about the writer in the following context: 
		  “I know I have limits and that I’ve reached them, but I’m going to ignore them and see if or how 

long I can get by with it.” ?
1.	 negligent	 2.	 indecisive
3.	 spontaneous	 4.	 reckless
5.	 purposeless	 6.	 patient
(a)	 2 and 5	 (b)	 3 and 6
(c)	 1 and 4	 (d)	2 and 3

	 (iv)	 Which of the following will be the most appropriate title for the passage?
(a)	 Much too soon	 (b)	 Enough is enough
(c)	 How much is too much?	 (d)	Have enough to do?

	 (v)	 The phrase “potentially harmful circumstances” refers to circumstances that can
(a)	 certainly be dangerous.	 (b)	 be fairly dangerous.
(c)	 be possibly dangerous.	 (d)	seldom be dangerous.

	 (vi)	 Select the option that makes the correct use of “unsustainable”, as used in the passage, to fill in 
the blank space.
(a)	 In the long run, the ______ officials followed emergency procedures.
(b)	 Emergency procedures were _______ by the officials.
(c)	 Officials reported an ________ set of events during the emergency.
(d)	 Officials admit that the emergency system is _______ in the longer run.

	 (vii)	The author attempts to __________________ the readers through this write-up.
(a)	 rebuke	 (b)	 question
(c)	 offer aid to	 (d)	offer advice to

	 (viii)	The author uses colloquial words such as “yeah” and “Woo-hoo!”. Which of the following is 
NOT a colloquial word?
(a)	 hooked	 (b)	 guy
(c)	 stuff	 (d) stress

	 (ix)	 What does the author mean when he says, “to get our lives in order”?
(a)	 To resume our lives.	 (b)	 To organize our lives.
(c)	 To rebuild our lives.	 (d)	To control our lives.
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	 (x)	 Choose the option that correctly states the two meanings of ‘outlook’, as used in the passage:
1.	 A person’s evaluation of life
2.	 A person’s experiences in life
3.	 A person’s point of view towards life
4.	 A person’s regrets in life
5.	 A person’s general attitude to life
(a)	 (1) and (4)	 (b)	 (2) and (3)
(c)	 (3) and (5)	 (d)	(4) and (5)

	 (xi)	 The author explains the importance of discipline and boundaries in our lives using the example 
of:
(a)	 road accidents.	 (b)	 traffic rules.
(c)	 lines on the highway.	 (d)	safe driving.

	 (xii)	What is the message conveyed in the last paragraph of the passage?
(a)	 Love what you do.	 (b)	 Love yourself to love others.
(c)	 Be the best version of yourself.	 (d)	Be yourself.

2.	 Read the passage given below.� (1 × 10 = 10)
	 The UN’s 2017 International Year tells that sustainable tourism is an important tool for development, 

most importantly in poor communities and countries. Today sustainability – environmental, social, and 
economic – is increasingly recognised as the benchmark for all tourism business. As noted by the UN 
World Tourism Organisation, 57% of international tourist arrivals will be in emerging economies, by 
2030. The various ‘Tourism Terms’ are defined as follows:

CATEGORY 	 DEFINITION

Ecotourism 	 Responsible travel to natural areas that conserves the environment, 
socially and economically sustains the well-being of local people, and 
creates knowledge and understanding through inter- pretation and 
education of all involved (including staff, travelers, and community 
residents).4

Ethical Tourism 	 Tourism in a destination where ethical issues are the key driver, e.g. 
social injustice, human rights, animal welfare, or the environment.5

Geotourism 	 Tourism that sustains or enhances the geographical character of a place 
- its environment, heritage, aesthetics, culture, and well-being of its 
residents.6

Pro-Poor Tourism 	 Tourism that results in increased net benefit for the poor people in a 
destination.7

Responsible Tourism 	 Tourism that maximizes the benefits to local communities, minimizes 
negative socal or environmental impacts, and helps local people conserve 
fragile cultures and habitats or speces.8

Sustainable Tourism 	 Tourism that leads to the management of all resources in such a way that 
economic, social, and aesthetic needs can be fulfilled while maintaining 
cultural integrity, essential ecological processes, biological diversity, and 
life-support systems.8

	 Based on data collected by a survey by Travel Bureau, the following market profile of an ecotourist was 
constructed:

	 Age: 35 - 54 years old, although age varied with activity and other factors such as cost.
	 Gender: 50% female and 50% male, although clear differences based on activity were found.
	 Education: 82% were college graduates, a shift in interest in ecotourism from those who have high levels 

of education to those with less education was also found, indicating an expansion into mainstream 
markets.

	 Household composition: No major differences were found between general tourists and experienced 
ecotourists**
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	 Party composition: A majority (60%) of experienced ecotourism respondents stated they prefer to travel 

as a couple, with only 15% stating they preferred to travel with their families, and 13% preferring to 
travel alone. (** experienced ecotourists = Tourists that had been on at least one “ecotourism” oriented 
trip.)

	 Trip duration: The largest group of experienced ecotourists- (50%) preferred trips lasting 8-14 days.
	 Expenditure: Experienced ecotourists were willing to spend more than general tourists, the largest 

group (26%).
	 Important elements of trip: Experienced ecotourists top three responses were: (a) wilderness setting, 

(b) wildlife viewing, (c) hiking/trekking.
	 Motivations for taking next trip: Experienced ecotourists top two responses were (a) enjoy scenery/

nature, (b) new experiences/places.
	 On the basis of your understanding of the passage attempt ANY TEN questions from the twelve that 

follow.� (1 × 10 = 10)
	 (i)	 In the line “……recognised as the benchmark”, the word “benchmark” DOES NOT refer to:

(a)	 a basis for something.	 (b)	 the criterion required.
(c)	 the ability to launch something new.	 (d)	a standard point of reference.

	 (ii)	 The World Tourism Organisation of the UN, in an observation, shared that:
(a)	 emerging economies of the world will gain 57% of their annual profits from International 

tourists.
(b)	 countries with upcoming economies shall see maximum tourist footfall from all over the world 

in the next decade.
(c)	 a large number of international tourists in 2030 will be from developing countries.
(d)	 barely any tourist in the next decade shall travel from an economically strong nation to a weak 

one.
	 (iii)	One of the elements that is important to ecotourists on trip is:

(a)	 wild and untouched surroundings.
(b)	 cultural exchange.
(c)	 car and bus rides.
(d)	 fully furnished flats.

	 (iv	 Choose the option that lists the correct answers for the following:
1.	 Asha Mathew, an NRI, loves animals and wishes to travel to places that safeguard their rights 

and inculcate awareness of their rights. What kind of tourist is she?
2.	 Gurdeep Singh from UK is an environmental scientist and has always chosen to travel to 

places that are examples of a symbiotic relationship between man and nature. What kind of 
tourist is he?

(a)	 (1) is an ecotourist and (2) is a geotourist
(b)	 (1) is an ethical tourist and (2) is a geotourist
(c)	 (1) is a sustainable tourist and (2) is a pro-poor tourist
(d)	 (1) is a geotourist and (2) is a responsible tourist

	 (v)	 Based on your understanding of the passage, choose the option that lists the inherent qualities 
of geotourism:

1. showcases adventure sports 2. promotes landscape 
appreciations

3. promises luxurious travel

4. includes being 
environmentally responsible

5. believes in commercializing 
forests

6. initiates donations for the 
underprivileged

(a)	 1 & 2	 (b)	 5 & 6
(c)	 2 & 4	 (d)	3 & 5

	 (vi)	 In the market profile of an ecotourist, the information on gender indicates that:
(a)	 female ecotourists were more than the male ecotourists.
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(b)	 the activity preferences were varied in females and males.
(c)	 the choice of things to do on a trip were quite similar for both the genders.
(d)	 male ecotourists were frequent travellers.

	 (vii)	 The education aspect in the market profile of the ecotourist revealed that:
(a)	 mainstream market trends were popular with undergraduates.
(b)	 ecotourists were only those who had basic education.
(c)	 mainstream markets were popular tourist destinations for educated ecotourists.
(d)	 ecotourism was no more limited to the small group of highly educated travellers.

	 (viii)	According to the survey conducted by the Travel Bureau, the total percentage of experienced 
ecotourists who DID NOT prefer to travel alone was:
(a)	 60%.	 (b)	 75%.
(c)	 15%.	 (d)	13%.

	 (ix)	 According to the survey, one of the most powerful driving forces leading experienced ecotourism 
to invest in new trips was:
(a)	 setting up work stations in new places.
(b)	 the chance to go camping in the wild.
(c)	 competing with other ecotourists as frequent travellers.
(d)	 the opportunity to travel to new places.

	 (x)	 Choose the option that lists statement that is NOT TRUE:
(a)	 Economically backward countries will benefit from sustainable tourism.
(b)	 The tourism business currently recognizes sustainability as an important factor.
(c)	 Emerging economies will receive negligible international tourists in the near future.
(d)	 The sustainability factor in tourism is a significant means for development.

	 (xi)	 The survey clearly showed that the age range of ecotourists:
(a)	 remained the same for the choice of tourist- attractions to visit.
(b)	 changed with the monetary requirements for the trip.
(c)	 fluctuated due to male-female ratio.
(d)	 was constant across various features of the trip.

	 (xii)	 Who isn’t an experienced ecotourist?
(a)	 The person who has travelled as an ecotourist once earlier.
(b)	 The person who is yet to travel even once as an ecotourist.
(c)	 The person who is a regular ecotourism enthusiast and traveller.
(d)	 The person who is not regularly travelling on ecotourism trips.

LITERATURE (10 marks)

3.	 Read the extracts given below and attempt ANY ONE, by answering the questions that follow. (5x1)

(A)	 Suddenly she was startled by a voice. “Listen, child,” said the voice, “you shouldn’t stand like 
that. Sit down.”
Sitting down, she looked to see who had spoken. It was an elderly man who had honestly been 
concerned for her, but she was annoyed by his attention.
“There’s nobody here who’s a child,” she said haughtily. “I’ve paid my thirty paise like everyone 
else.”
The conductor chimed in. “Oh, sir, but this is a very grown-up madam. Do you think a mere girl 
could pay her own fare and travel to the city all alone?”
Valli shot an angry glance at the conductor and said, “I am not a madam. Please remember that. 
And you’ve not yet given me my ticket.”
“I’ll remember,” the conductor said, mimicking her tone. Everyone laughed, and gradually Valli 
too joined in the laughter.
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	 (i) 	 How did Valli feel when the elderly man expressed concern that she was standing?

(a)	 Rather shocked
(b)	 Somewhat happy
(c) 	 Fairly displeased
(d) 	Quite embarrassed

	 (ii)	 Choose the option that lists the set of statements that are NOT TRUE according to the given 
extract:
1.	 Valli was travelling without a guardian.
2.	 The conductor was bullying Valli.
3.	 Valli was nervous in her interactions.
4.	 Valli was a child passenger.
5.	 Valli followed the elderly man’s advice.
6.	 Valli’s response to the elderly man was respectful.
7.	 It took Valli some time to participate in the jocular conversations.
(a)	 2, 3, 4	 (b) 	5, 6, 7
(c) 	 3, 5, 7	 (d) 	2, 3, 6

	 (iii)	Pick the option that correctly classifies fact/s(F) and opinion/s (O) of the students below:

(1) I think the 
conductor shouldn’t 
have allowed Valli 
to board.

(2) I feel that 
Valli was being 
irresponsible.

(3) Let’s not forget 
that Valli was a 
paying passenger 
like others. (4) Oh, come on! 

She was just out 
for an adventure, 
wasn’t she?

(a) 	 F - 1,2 and O - 3,4
(b) 	F - 2,3,4 and O - 1
(c) 	 F - 2,4 and O - 1,3
(d) 	F - 3 and O - 1,2,4

	 (iv)	 Which word does ‘chimed in’ NOT correspond to?
(a) 	 Intervened	 (b) 	Interrupted
(c) 	 Intersected	 (d) 	Interjected

	 (v)	 Choose the characteristic displayed by the conductor when he addressed Valli and declared that 
she couldn’t be ‘a mere girl’:
(a) 	 encouragement	 (b) 	indulgence
(c) 	 embarrassment	 (d) 	authority

OR

(B)	
The baker or bread-seller of those days had a peculiar dress known as the kabai. It was a single 
piece long frock reaching down to the knees. In our childhood we saw bakers wearing shirt 
and trousers which were shorter than full-length ones and longer than half pants. Even today, 
anyone who wears a half pant which reaches just below the knees invites the comment that he 
is dressed like a pader!
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	 (i)	 Choose the answer that lists the correct option about the recording of the baker’s monthly 
accounts:

(1) (2) (3) (4)

(a) 	 Option (1)	 (b) 	Option (2)
(c) 	 Option (3)	 (d) 	Option (4)

	 (ii)	 When the writer says, ‘Baking was indeed a profitable profession in the old days.’, he means 
that:
(a)	 baking isn’t as popular in Goa currently.
(b)	 bakers have chosen to adopt other professions.
(c)	 baking, as a job, isn’t as gainful as it used to be.
(d)	 bakers’ goods were of a better quality in earlier times.

	 (iii)	The statement that is TRUE about payment collection, according to the passage is:
(a) 	 The baker received payment on a daily basis.
(b) 	The baker was paid for his services at the end of the month.
(c) 	 The baker insisted that customers pay before the month-end.
(d) 	The baker chose to receive payment any day of the month.

	 (iv)	 The kabai was a ‘peculiar’ outfit as it was:
(a) 	 a tight-fitting apparel.	 (b) 	too colourful.
(c) 	 made of unsuitable materials.	 (d) 	a dress-like attire.

	 (v)	 The extract uses the phrase, ‘invites (the) comments’. Which of the following expressions is 
incorrect with respect to the word ‘invites’ ?

(4) applications

(3) guests

(1) trouble

 INVITE/S (2) prayers

(a) 	 Option (1)	 (b) 	Option (2)
(c) 	 Option (3)	 (d) 	Option (4)

4.	 Read the extracts given below and attempt ANY ONE, by answering the questions that follow. (5x1)
(A)		  But he’s locked in a concrete cell,
		  His strength behind bars,
		  Stalking the length of his cage,
		  Ignoring visitors.

		  He hears the last voice at night,
		  The patrolling cars,
		  And stares with his brilliant eyes
		  At the brilliant stars
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	 (i)	 The fact that the tiger is ‘stalking the length of his cage’ tells us that he is:

(a) 	 restless.	 (b) 	reckless.
(c) 	 resilient.	 (d) 	reverent.

	 (ii)	 What is the rhyme scheme of the given stanzas?
(a) 	 abcb; abcb	 (b) 	abcb; abcd
(c) 	 abcd; abcd	 (d) 	abcd; abcb

	 (iii)	These stanzas bring out the contrast between:
(a) 	 zoos and cities.	 (b) 	strength and weakness.
(c) 	 freedom and captivity.	 (d) 	visitors and patrolling cars.

	 (iv)	 What is the caged tiger NOT likely to say to the visitors?
(a) 	 “Stop staring”.	 (b) 	“Set me free”.
(c) 	 “Join me".	 (d) 	“Go away”.

	 (v)	 The tiger’s ‘brilliant eyes’ reveal that he:
(a) 	 hopes to be free and in the wild, someday.
(b) 	is looked after well and is nourished and healthy.
(c) 	 enjoys staring at the bright stars each night.
(d) 	is well-rested and hence, wide-awake.

OR
(B)		  I saw it go
		  Merrily bouncing, down the street, and then
		  Merrily over — there it is in the water!
		  No use to say ‘O there are other balls’:
		  An ultimate shaking grief fixes the boy
		  As he stands rigid, trembling, staring down
		  All his young days into the harbour where
		  His ball went
	 (i)	 The poet uses the ball as a symbol of the boy’s:

(a) 	 sense of adventure.	 (b) 	carefree childhood days.
(c) 	 ability to bounce back.	 (d) 	extended family.

	 (ii)	 The poet feels that there is no point consoling the boy as:
(a) 	 it would give him false hope.	 (b) 	he might demand for a new ball.
(c) 	 it might distress him further.	 (d) 	whatever he has lost is irretrievable.

	 (iii)	The word ‘harbour’ DOES NOT have a meaning similar to:
(a) 	 port.	 (b) 	pier.
(c) 	 dock.	 (d) 	cargo.

	 (iv)	 ‘Merrily over — there it is in the water!’ The dash here is meant to convey:
(a) 	 some familiar experience.	 (b) 	a feeling of excitement.
(c) 	 a sense of unexpected interruption.	 (d) 	some thoughtful moments.

	 (v)	 The word that DOES NOT indicate a physical manifestation of sorrow in the boy, is:
(a) 	 worthless.	 (b) 	shaking.
(c) 	 trembling.	 (d) 	rigid.

GRAMMAR (10 marks)

5.	 Choose the correct options to fill in the blanks to complete the note about the Wangala Festival of 
Meghalaya.� (1 × 3=3)

	 The Wangala -(i)- festival for the Garo in Meghalaya, Assam and Nagaland. It is a postharvest festival 
-(ii)- the end of the agricultural year. It is popularly known as ‘The Hundred Drums’ festival. During 
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the signature dance, the leading warrior -(iii)- with synchronised dance steps and specific hand-head 
movements.
(i)	 (a)	 is important
	 (b)	 are an important
	 (c)	 was the important
	 (d)	 is an important
(ii)	(a)	 being celebrated for marking
	 (b)	 celebrated to mark
	 (c)	 celebrated to marking
	 (d)	 being celebrated for mark

(iii)	 (a)	 leads the youngsters
	 (b)	 is lead the youngsters
	 (c)	 was leading the youngsters
	 (d)	 had leads the youngsters

6.	 Choose the correct options to fill in the blanks to complete Venu’s narration.� (1 × 3)

	 I saw Supanddi standing in the field. When I -(i)- doing there, he -(ii)- he was trying to win a Nobel 
prize. I was confused and enquired how standing in the rice field would help him do so. He stumped 
me by saying that he -(iii)- won Nobel prizes had all been outstanding in their fields!
(i)	 (a)	 exclaimed what he was
	 (b)	 told him what he was
	 (c)	 asked him what he was
	 (d)	 says to him about what
(ii)	(a)	 ordered that
	 (b)	 refused that
	 (c)	 questioned that
	 (d)	 replied that

(iii)	 (a)	 has heard that people who has
	 (b)	 was hearing that people who were
	 (c)	 had heard that people who had
	 (d)	 did hear that people who had

7.	 Fill in the blanks by choosing the correct options for ANY FOUR of the six sentences given below.	
� (1 × 4)

	 (i)	 You _________ consult the Thesaurus if you need groups of synonyms for those words.
(a) 	 had to	 (b) 	need to
(c) 	 used to	 (d) 	might

	 (ii)	 Everybody _________ keen to participate in the upcoming nukkad natak.
(a) 	 are	 (b) 	has
(c) 	 is	 (d) 	were

	 (iii)	The good news is that _________ volunteers dropped out this month than the last two.
(a) 	 fewer	 (b) 	less
(c) 	 few	 (d) 	a little
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	 (iv)	 It was _________ historic day for the organisation when _________ honour was bestowed upon 

its employees.
(a) 	 a; an	 (b) 	an; the
(c) 	 the; a	 (d) 	an; a

	 (v)	 At this time tomorrow we _________ our project details to ma’am.
(a) 	 are presenting	 (b) 	shall be presenting
(c) 	 have been presenting	 (d) 	will have presenting

	 (vi)	 The Komodo dragon _________ follow its prey till it will eventually dies due to its venomous bite.
(a) 	 must	 (b) 	will
(c) 	 could	 (d) 	may

PART B [40 Marks]

WRITING (2 × 5=10 marks)

8.	 Attempt ANY ONE of the following in 100-120 words.� (5 marks)
	 (A)	 You are Tabassum/Tarun, a resident of Satya Nagar Colony, Bhubaneshwar, Orissa. You have 

noticed that some residents of your colony are repeatedly flouting quarantine rules laid out during 
the outbreak of the COVID–19 pandemic.

		  Write a letter to the SHO of the local Police Station, drawing attention towards the same. Explain 
how such acts impact the health of the community and request immediate intervention and strict 
action.

OR
	 (B)	 You are Vaijanthi/Vijay from Prakasham Nagar, Secunderabad, Andhra Pradesh. Write a letter to 

Book Haven Store, requesting home delivery of the books, stationery and art materials you had 
ordered telephonically. Share the reason for being unable to pick up the goods in person. Confirm 
your address details and a convenient time slot.

9.	 Attempt ANY ONE of the following in 100-120 words.� (5 marks)
	 (A)	 The chart below displays data about the number of digital devices purchased in Rishunagar across 

the years 2015-2019. Write a paragraph analyzing the given data.

2015 2016 2017 2018 2019

120

100

80

60

40

20

0

Digital devices purchased across years in Rishunagar

smartphones

computersde
vi

ce
s

⇐
 (f

ig
ur

es
 in

 1
00

0s
) ⇒

⇐ Years ⇒

OR
	 (B)	 Read the following excerpt from an article that appeared in the magazine section of a local daily:
		  The ban on single-use plastic is impractical. The purpose of articles like bags and packaging is 

ultimately to make human life easier. Plastic articles do this well, so they shouldn’t be banned.
		  Write a paragraph to analyse the given argument. You could think about what alternative 

explanations might weaken the given conclusion and include rationale / evidence that would 
strengthen / counter the given argument.
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LITERATURE (30 marks)

10.	 Answer ANY TWO questions in 20-30 words each, from (A) and (B) respectively.	 (2 × 4 = 8)
(A)	 (i)	 How did Peggy justify her cruel behavior towards Wanda?� (any two) (2 × 2=4)
	 (ii)	 Describe how Custard’s reaction was different from that of others, on seeing the pirate?
	 (iii)	Who, according to Nelson Mandela, is a courageous man?
(B)	 (i)	 Why did Oliver Lutkin’s mother laugh as she chased him and Bill away?�(any two) (2 × 2=4)
	 (ii)	 �Why was it important for Mrs. Pumphrey to be a little cruel in order to be kind towards Tricki?
	 (iii)	�List any one characteristic of Bholi’s teacher with reference to her first day at school. Give a 

reason for your answer.
11.	 Answer ANY TWO questions in 40-50 words each, from (A) and (B) respectively.� (3 × 4=12)

(A)	�  (any two) (3×2=6)
	 (i)	 �Annie writes that it was fortunate that Mr. Keesing took the joke the right way. Why does she 

feel so?
	 (ii)	 �The use of symbolism in the poem ‘Fire and Ice’ conveys the poet’s message effectively.  

Expand with reference to the poem.
	 (iii)	Justify the poet’s allusion to Rapunzel in ‘Amanda’.
(B)	 (i)	 Griffin’s brilliance as a man of science fades before his darker traits. Comment.� (any two) 

(3 × 2=6)
	 (ii)	 �Why do you think Mr. Weiherer was pleased that Richard Ebright not only put in the nightly 

research hours towards butterflies, but also his other interests?
	 (iii)	�What mademe Forestier exclaim in astonishment, when she saw Matilda, years after the  

Minister’s ball?
12.	 Answer ANY ONE of the following in 100-120 words.� (5×1)

(A)	 Natalya and Ivan argued about the ownership of Oxen Meadows and the superiority of their  
respective dogs in the play, The Proposal.

		  Imagine yourself as the playwright of the play. Based on your understanding of the personality 
traits of Natalya and Ivan, write a dialogue based on an imaginary event, showcasing another 
argument between them.

OR
	 (B)	 Read the extracts given below and comment on the difference in the nature of help both the 

characters, of these two stories, received.
(a)	 Suddenly I came out of the clouds and saw two straight lines of lights in front of me. It was a 

runway! An airport! I was safe! I turned to look for my friend in the black aeroplane but the 
sky was empty. [The Black Aeroplane]

(b)	 All through the night Lencho thought only of his one hope: the help of God…The following 
Sunday, at daybreak he began to write a letter…It was nothing less than a letter to God...The 
following Sunday Lencho came a bit earlier than usual to ask if there was a letter for him…. 
Lencho showed not the slightest surprise on seeing the money, such was his confidence. [A 
Letter to God]

13.	 Answer ANY ONE of the following in 100-120 words.� (5×1)
	 (A)	 Hari Singh says- “He knew it but neither his lips nor his eyes showed anything.”
		  Anil successfully addressed the situation by not addressing it at all. Elaborate based on your 

reading of The Thief’s Story.
OR

	 (B)	 Read the following quote by an American author, E. E. Hale.
		  “I am only one but, I am one. I cannot do everything but I can do something. And I will not let what I cannot 

do interfere with what I do.”
		  Bholi’s evolution from a ‘dumb cow’ to a ‘masterpiece’ supports the given quote. Justify.

	  
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Solutions

Solutions of Question Paper� 1
PART A [40 Marks]

READING (20 marks)

	 1.	 (i)	 (a)	 constant need for something different.

		  (ii)	 (d)	 Option (4)

		  (iii)	 (c)	 1 and 4

		  (iv)	 (c)	 How much is too much?

		  (v)	 (c)	 be possibly dangerous

		  (vi)	 (d)	 Officials admit that the emergency system is __________ in the longer run.

		  (vii)	 (d)	 offer advice to

		  (viii)	(d)	 stress

		  (ix)	 (b)	 To organize our lives.

		  (x)	 (c)	 (3) and (5)

		  (xi)	 (c)	 lines on the highway.

		  (xii)	 (c)	 Be yourself.� (1×10= 10 marks)

	 2.	 (i)	 (c)	 the ability to launch something new

		  (ii)	 (b)	 Countries with upcoming economies shall see maximum tourist footfall from all over the 
world in the next decade

		  (iii)	 (a)	 wild and untouched surroundings.

		  (iv)	 (b)	 (1) is an ethical tourist and (2) is a geotourist

		  (v)	 (c)	 2 & 4

		  (vi)	 (b)	 the activity preferences were varied in females and males.

		  (vii)	 (d)	 ecotourism was no more limited to the small group of highly educated travelers.

		  (viii)	(b)	 75%.

		  (ix)	 (d)	 the opportunity to travel to new places.

		  (x)	 (c)	 Emerging economies will receive negligible international tourists in the near future.

		  (xi)	 (b)	 changed with the monetary requirements for the trip.

		  (xii)	 (b)	 The person who is yet to travel even once as an ecotourist.� (1×10= 10 marks)
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LITERATURE (10 marks)

	 3.	 (A)	

		  (i)	 (c)	 Fairly displeased

		  (ii)	 (d)	 2, 3, 6

		  (iii)	 (d)	 F – 3 and O – 1,2,4

		  (iv)	 (c)	 Intersected

		  (v)	 (b)	 indulgence� (1×5= 5 marks)

OR
	(B)	 (i)	 (c)	 Option (3)

		  (ii)	 (c)	 baking, as a job, isn’t as gainful as it used to be.

		  (iii)	 (b)	 The baker was paid for his services at the end of the month.

		  (iv)	 (d)	 it was a dress-like attire.

		  (v)	 (b)	 Option (2)� (1×5= 5 marks)

	 4.	 (A)	

		  (i)	 (a)	 restless

		  (ii)	 (d)	 abcd; abcb

		  (iii)	 (c)	 freedom and captivity.

		  (iv)	 (c)	 “Join me”.

		  (v)	 (a)	 hopes to be free and in the wild, someday.� (1×5= 5 marks)

OR

	(B)	 (i)	 (b)	 carefree childhood days.

		  (ii)	 (d)	 whatever he has lost is irretrievable.

		  (iii)	 (d)	 cargo.

		  (iv)	 (c)	 a sense of unexpected interruption.

		  (v)	 (a)	  worthless� (1×5= 5 marks)

GRAMMAR (10 marks)

	 5.	 (i)	 (d)	 is an important

		  (ii)	 (b)	 celebrated to mark

		  (iii)	 (a)	 leads the youngsters� (1×3= 3 marks)

	 6.	 (i)	 (c)	 asked him what he was

		  (ii)	 (d)	 replied that

		  (iii)	 (c)	 had heard that people who had� (1×3= 3 marks)

	 7.	 (i)	 (b)	 need to

		  (ii)	 (c)	 is

		  (iii)	 (a)	 fewer

		  (iv)	 (a)	  a, an

		  (v)	 (b)	 shall be presenting

		  (vi)	 (b)	 will� (1×3= 3 marks)
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Section B

WRITING (2 × 5=10 marks)

	 8.	 Formal Letter� 1×5
		  2 marks for content
	 2 marks for expression (1 mark-grammatical accuracy, appropriate words and spellings + 1 mark-

cohesion via connecting ideas, logical progression & coherence through relevance of ideas)
		  Format
			   1.	 sender’s address
			   2.	 Date (any standardised format -21.5.20 /21 May ’20 / 21/5/20 etc.)
			   3.	 receiver’s address—mentioned in the Q/ fictitious (receiver’s address may also be followed 

by date)
			   4.	 subject
			   5.	 salutation
			   6.	 complimentary close
		  Format = 1 mark
	 	 	 •	 An organised format structure is expected.
	 	 	 •	 Absence of even one aspect shall result in credit of ½ marks only.
	 	 	 •	 Full credit of 1 mark requires all listed aspects of format.
	 	 	 •	 Zero credit if just format is listed without letter content.

	(A)	 Letter to SHO requesting action against flouters of quarantine rules
		  Competency applied for overall expression
	 	 • Paragraphing recommended. Listing of points shall lead to deduction of 1 mark
	 	 • Opening--using phrases like ‘This is to draw your attention towards…’; ‘I would like to draw your 

attention towards…’ etc.
	 	 • Complaint—use of linking words for sequencing, adding, etc.
	 	 • Impact- use of linking words for cause & effect etc.
	 	 • Appeal- use of phrases like ‘ I earnestly hope…’, I’d like to request…’ etc.
	 	 • Accuracy—grammar, spellings
		  Competency applied for content
	 	 • Stating reason/s for writing by explaining the situation followed by complaints-min. 2
			   (content 1 mark)
	 	 • Stating the impact-min. 2                                                                                                     (content ½ mark)
	 	 • Requesting need for action                                                                                                   (content ½ mark)
		  Suggestive Points:
		  Complaint about some residents not following the quarantine rules
		  – There is an evident disregard to the rules of social distancing
		  – people roaming without masks in the colony
		  – no staying indoors
	 	 – The Resident Welfare Association is not taking any steps to prevent such behavior
		  – Any other relevant
		  Impact
		  – Putting everyone’s life at risk through their casual behavior
		  – Aggravates mental stress
		  – Any other relevant
		  Appeal
		  – Request to look into the matter at the earliest
		  – Take immediate action
		  – Any other relevant point� [CBSE Marking Scheme, 2020]
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	Detailed Answer:

		  Satya Nagar Colony

		  Bhubaneswar

		  24 May, 20

		  The Station House officer

		  Satya Nagar Police Station

		  Bhubaneswar, Orissa

		  Subject: Complaint Against Flouters of Quarantine Rules

		  Sir,

	 Through this letter of mine, I would like to draw your attention towards some residents of our colony 
who are repeatedly flouting quarantine rules which have been laid out during the outbreak of COVID 
19 pandemic.

	 There is an evident disregard to the rules of social distancing. Many people are roaming without 
masks in the colony and do not stay indoors. Despite repeated requests, they are turning a deaf ear to 
all the appeals. The RWA is also not taking any steps to prevent such behavior. It is a matter of great 
concern as they are putting everyone's life at great risk through their casual behavior. It aggravates 
mental stress also.

	 I request you to look into the matter at the earliest. I earnestly hope that you will take immediate 
action against these people. I hope for a positive response from your end.

		  Thank you.

		  Your Sincerely

		  Tarun

OR

	(B)	 Letter to Book Haven Store requesting home delivery of ordered goods

	 	 Competency applied for overall expression

	 	 • Paragraphing recommended. Listing of points shall lead to deduction of 1 mark

	 	 • Opening--using phrases like ‘This is with reference to the order …’; ‘Kindly refer to order no.…’ etc.

		  • Reason—using ‘because’, ‘due to’ , ‘since’ etc.

	 	 • Request-- use of ‘Kindly…’ , ‘ I would be grateful…’ etc.

	 	 • Accuracy—grammar, spellings

		  – Reference

			   Competency applied for content

	 	 	 •	 Reference to order placed telephonically for pick-up in person� (content ½ mark)

		  – Inform

		  – Give reason - Illness, family emergency, professional commitments, any other relevant reason &

		  – Request

	 	 	 •	 Inform about inability to pick in person, provide reason/s and forward request to deliver the 
goods at home� (content 1 mark)

		  – Details

	 	 	 •	 Present details of suitable time slot, conformation of address and phone number

			                                                                                       (content ½ mark)�[CBSE Marking Scheme, 2020]
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	Detailed Answer:

	 204 Prakasham Nagar
	 Secunderabad
	
	 14 October 20	
	 The Sales Manager
	 Book Haven Store
	 Secunderabad

	 Subject: Request for home Delivery of Books.
	 Sir,
 	 This is with reference to the order placed telephonically on 9 October '20 by me for some reference 

books, registers, oil pastels, and brushes, I had informed you that I would pick up the goods of the 
placed order in person.

	 But through this letter, I request you to make arrangements for the home delivery of ordered goods. 
Actually, an emergency meeting has been called by our organisation and I have to leave for Mumbai 
for one week tonight only. I would really be grateful if you deliver the ordered goods at the address 
stated above.

	 Thank you.
	 Your Sincerely
	 Vaijanthi

	 9.	 Analytical Paragraph writing� 1 × 5 = 5
			   3 marks for content
			   2 marks for expression (1 mark-grammatical accuracy, appropriate words and spellings + 1 mark 

cohesion via connecting ideas, logical progression & coherence through relevance of ideas and 
style)

	(A)	 – Data about purchase of digital devices
			   Competency applied for overall expression
	 	 	 •	 single paragraph
	 	 	 •	 use of appropriate functional language required to show trend progression and comparison 

(more/less/ increase/ decrease/ stable etc.) to achieve cohesion
	 	 	 •	 accuracy
		  – Introductory sentence
			   Competency applied for content
	 	 	 •	 Paraphrase Q. information� (content-½ mark)
		  – identification of main trends� (content -2 marks content)
	 	 	 •	 at least 4 clearly identified trends
			   Note – focusing and extending one particular trend would be considered as one trend only.
		  – concluding line� (content - ½ mark)
		  stating main inference from the data provided.

[CBSE Marking Scheme, 2020]

	Detailed Answer:
PURCHASE OF DIGITAL DEVICES

	 According to the given data, a large number of digital devices were purchased in Rishunagar across 
the years 2015-2019. The data indicates that more smartphones were purchased in 2015 as compared 
to the computers which numbered approx-35,000 in 2015. There was a gradual size in the purchase in 
2016 when the number of smartphones rose to 60,000 and computers to 59,000. The trend suddenly 
changed and a sharp rise was seen us. The purchase of computers in 2017 which again dropped to 
approx. 45,000 in 2018. The year showed a decline in the purchase of smartphones as well. But the 
year 2019 brought hope and cheer for the sellers when there was again an upward trend in both 
smartphones and computers. To sum up it can be said that the purchase of digital devices across these 
fire years showed the incline of people towards the hi-tech devices.
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OR

	(B)	 Argument for excerpt --Ban on Plastic

		  –	 Competency applied for overall expression

	 	 	 •	 single paragraph

	 	 	 •	 use of appropriate functional language required to show comparison/ contrast/ emphasis etc. 
to achieve cohesion

	 	 	 •	 accuracy

		  –	 Introductory sentence

				    Competency applied for content

	 	 	 •	 stating the given assumption in the question as the introduction.� (content-½ mark)

		  –	 arguments rationalizing against/in favour of assumption                       (content -2 marks content)

	 	 	 •	 at least 2 clearly listed arguments countering/ favouring the premise.

			   Note – focusing and extending one particular trend would be considered as one trend only.

		  –	 concluding line� (content-½ mark)

	 	 	 •	 reiterating main inference/position.

[CBSE Marking Scheme, 2020]

	Detailed Answer:
Ban On Plastic

	 Single use plastic causes more harm to the environment than benefitting it. Its toxic contents are 
harmful for all whether they are human beings, animals or marine creatures. In fact they cause a 
decline in the healthy state of those also who produce it as it leads to many illnesses. The government  
has decided to put a blanket ban on single-use plastic articles which is a wise step. It is going to be 
helpful for our environment which is in a declining state everyone must join in this campaign to save 
our planet and to make it pollution free. More of environment friendly products should be used. The 
ban on these products is not impractical. There is no denying the fact that these products make our 
life easier but we should come up for the welfare of all and not be selfish. The ban will be useful in the 
long run.

LITERATURE (30 marks)

	10.	 (A)	 Competency applied for :                                                                                               (2 × 2= 4 marks)

			   content-

	 	 	 •	 Stating Minimum 2 rationales

	 	 	 •	 Depicting Support of/reference to textual evidence

			   expression-

	 	 	 •	 Applying logical progression, using appropriate linking devices (e.g. because/besides, in 
order to, therefore etc.) cohesion.

	 	 	 •	 Response relevance for overall sense according to the question attempted coherence

	 	 	 •	 Accuracy in use of grammatical structures, vocabulary and spellings

				    NOTE-Writing in a paragraph recommended. Just listing of points shall result in deduction 
of marks allotted for cohesion & coherence.

			   (i)	 – she felt Wanda lied about her dresses

				    – Wanda wasn’t ordinary as she had a funny name

				    – she believed that she was just having fun and didn’t mean harm

[CBSE Marking Scheme, 2020]



OSWAAL CBSE Sample Question Papers, English Language & Literature, Class-X18
	Detailed Answer:

	 Peggy and others girls used to tease Wanda about the number of dresses she had and Wanda always 
replied-hundred. This made Peggy fed that Wanda lied about her dresses. So, she used to tease her 
but she believed that she was just having fun and didn't mean to harm Wanda.

			   (ii)	 – Custard was always teased as being the cowardly one, by all others

				    – When the Pirate arrived, others ran away to hide

				    – Custard was the only one who stood up to fight with him/who attacked him.

	Detailed Answer:
	 Everyone teased Custard and called him coward but the day the Pirate arrived, everyone else ran 

away to hide but he was the only one who stood up to fight with him.

			   (iii)	– not someone who doesn’t experience fear

				    – someone who doesn’t give in to it

				    – one who wins over fear� (2 × 2= 4 marks)

[CBSE Marking Scheme, 2020]

	Detailed Answer:
	 According to Nelson Mandela, a courageous man is one who doesn't experience fear. Instead, he 

triumphs over it and doesn't give in to fear.

		  (B)	 Competency applied for : � (2 × 2= 4 marks)
			   content-
	 	 	 •	 Stating Minimum 2 rationales
	 	 	 •	 Depicting Support of / reference to textual evidence
			   expression-
	 	 	 •	 Applying logical progression, using appropriate linking devices (e.g. because/ besides, in 

order to, therefore etc.)
			   cohesion- 
	 	 	 •	 Response relevance for overall sense according to the question attempted 
			   Coherence
	 	 	 •	 Accuracy in use of grammatical structures, vocabulary and spellings
		  NOTE— Writing in a paragraph recommended. Just listing of points shall result in deduction of marks 

allotted for cohesion & coherence.
			   (i)	 – she knew her son Lutkins was pretending to be Bill
				    – the narrator’s predicament amused her

[CBSE Marking Scheme, 2020]

	Detailed Answer:
	 Oliver Lutkins mother laughed as she chosed Lutkins and Bill anyway because she knew her son 

was pretending to be Bill. She found it amusing when she saw the narrator in such a situation. His 
predicament amused her.

			   (ii)	 – she was overfeeding Tricki; being overindulgent

				    – �she needed to cut down Tricki’s food intake to help him regain his health (be cruel to be 
kind)

[CBSE Marking Scheme, 2020]

	Detailed Answer:
	 It was important for Mrs. Pumphrey to be a little cruel towards Tricki because he was being overfed 

which impacted his health. She needed to cut down the food intake of Tricki. It was the only way to 
help him regain his health.
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			   (iii)	– Kind/encouraging/empathetic/assuring/any other relevant trait from the text.

				    – Reason from text required� (2 × 2= 4 marks)

[CBSE Marking Scheme, 2020]

	Detailed Answer:
	 On the first day of her school. Bholi found her school teacher to be different from her family members 

because she was a kind and considerate lady. She had a soft and soothing tone. She gave Bholi a lot 
of encouragement and inspiration which she was not getting from her family.

	 11.	 First Flight & Footprints Without Feet (40-50 words)
	(A)	 Content = 2 mark
		  Expression = 1 mark (coherence and cohesion+ accuracy)
		  Competency applied for :                                                                                                        (2 × 3= 6 marks)
		  content-
	 	 • Stating Minimum 2 points + justification/explanation
	 	 • Depicting Support of / reference to textual evidence
		  expression-
	 	 • Applying logical progression, using appropriate linking devices (e.g. because/ besides, in order to, 

therefore etc.)- cohesion
	 	 • Response relevance for overall sense according to the question attemptedcoherence
	 	 • Accuracy in use of grammatical structures, vocabulary and spellings
		  NOTE— Writing in a paragraph recommended. Just listing of points shall result in deduction of marks 

allotted for cohesion & coherence.
		  (i)	 –	 poem referred to the father swan who bit his three ducks because they quacked too much; 

allusion to Mr. Keesing
			   –	 Poem written to turn the joke around on Mr. Keesing; metaphorically convey the value of 

talking
			   –	 fortunate that Mr. Keesing got the joke, else, the disciplinary action could have been severe.

[CBSE Marking Scheme, 2020]

	Detailed Answer:
	 Anne feels that it was fortunate that Mr. Keesing took the joke the right way because she had written 

a poem which was an allusion to Mr. keesing. It had actually been written to turn the joke around 
on Mr. Keesing who could have taken it the other way also. She had written a poem referring to 
a father swan who bit his three ducks because they quake too much. The message was conveyed 
metaphorically. Had Mr. Keesing taken it the other way round, the disciplinary action could have 
been server.

		  (ii)	 –	 Poem discusses the way the world can end.

			   –	 Fire stands for greed/lust/human desire; Ice stands for hatred/ coldness/human indifference;

			   –	 world can end with either greed or indifference� [CBSE Marking Scheme, 2020]

	Detailed Answer:

		�  The use of symbolism in the poem 'Fire and Ice'  conveys the poems, the poet has compared fire to 
the dark side of humanity i.e., hatredness and lust. According to the poet lust is a greater evil. Desire 
or lust the cause of war. Hatredness is also harmful. So, the poem 'Fire and Ice' represents the two 
evils hatredness and lust which lead to the destruction of the world. According to the poet fire stands 
for desire, greed and avarice. The more you try to satisfy them, the more they grow. There is no end 
to it. They spread rapidly like fire and ruin your whole life. On the other had, 'ice' according to the 
poet, stands for hatred, coldness and rigidity. One becomes insensitive and indifferent towards the 
feelings of others. One becomes selfish and sometimes cruel also. The poet say that both fire and ice 
are growing with such a rapid speed that the world would soon perish either way, in fire or in ice.
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		  (iii)	 –	 It is justified as Rapunzel lived with a witch who would constantly keep a check on her and 
had several rules to be followed.

			   –	 Amanda too, feels caged by the impositions

			   –	 Amanda desires peace in isolation like Rapunzel had in her tower; clarifying she will not let 
her hair down for anyone� (2 × 3= 6 marks)

[CBSE Marking Scheme, 2020]

	Detailed Answer:

		�  Rapunzel was a beautiful girl who lived with a witch who would constantly keep a check on her 
and had several rules to be followed. Amanda, like Repunzel, feels caged by the restrictions imposed 
on her. She desires to live a peaceful life in isolation like Rapunzel lived in a tower. But on the other 
hand, she clarified also that she would not let her hair down for anyone in order not to interrupt her 
peaceful life.

	(B)	 (i)	 –	 Brilliant scientist (give example)

			   –	 he was a lawless person, he was disliked by most people, was quick tempered, burnt the 
house of the landlord to take a revenge on him, stole money at priest’s house, (any other trait 
that reveals his darker side)

			   –	 undoubtedly brilliant but his brilliance eclipsed by his negative traits.

[CBSE Marking Scheme, 2020]

	Detailed Answer:
	 Griffin was brilliant scientist who experimented to prove that human body could become invisible. 

No one can deny that a true scientist works for the good of humanity. He wants to make man's life 
easier, more comfortable and enjoyable. He doesn't misuse his discoveries for personal gains or selfish 
ends. But Griffin, Though a brilliant scientist, misuses his discovery to puzzle people, enters stores 
and shops unseen, robs people of their money or things and escapes. He set fire to the hourse of his 
landlord. He steels food, sweets, wine, etc. It shows that the misuse of a scientific discovery can disturb 
the peace of society. Such a scientist will use his invention for self-interest and for taking revenge 
upon the people around him, he won't honour the law and thus will become a lawless person. He was 
undoubtedly brilliant but his brilliance was eclipsed by his negative traits.

		  (ii)	 –	 Mr. Weiherer was pleased that Ebright balanced academics as well as recreational pursuits 
(hobbies etc.);

			   – 	 As a teacher, he wanted Ebright’s growth as a well-rounded personality.

[CBSE Marking Scheme, 2020]

	Detailed Answer:

		�  Richard A, Weiherer was Richards Ebright's social  studies teacher and adviser to the debating and 
Model United Nation Club. He helped Ebright a lot by opening his mind to to new ideas. He encouraged 
him and boosted his research. He was pleased that Richard not only put his efforts in nightly research 
towards butterflies but also towards his other interests– like coin collection, star gazing, astronomy, 
debating, canoeing, photography, etc. He was happy to note that Richard balanced academics as well 
as recreation pursuits. As a teacher, he wanted Richard's, growth as a well-rounded personality and 
he could see it coming true in Richard.

		  (iii)	 –	 The change in Matilda’s physical appearance (comparison from what she was at the time of 
the minister’s ball, to current)� (2 × 3= 6 marks)

[CBSE Marking Scheme, 2020]

	Detailed Answer:
	 Madame Forestier exclaimed in astonishment when she saw Matilda after a long gap because of the 

change in her physical appearance. Matilda had to work very hard to lead her life. She had become 
a strong, hard woman, the crude woman of the household. In fact, she had started looking old. One 
Sunday evening, when she was taking a walk in the Champs Elysees, she met Mrs. Forestier who still 
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looked young and pretty. As Matilda had started looking old and haggard, she couldn't be recognized 
by her. It was difficult to recognize her as she was no longer the same pretty woman who had attended 
the minister's ball.

	 12.	 First Flight� 1 × 5=5 marks
			   Content = 3 marks
				    Expression = 2 marks (1 mark-grammatical accuracy, appropriate words and spellings + 1 

mark-cohesion via connecting ideas, logical progression & coherence through relevance of 
ideas)

			   Competency applied for :
			   content-
	 	 	 •	 Response (dialogues) need to be creatively composed to match the personality of the two 

characters from the play

	 	 	 •	 language included, must correspond to that of an argument, and show an understanding of 
the common expressions/exclamations attributed to the characters in the play.

		  NOTE—Marks to be allotted for creation. No marks to be deducted for lack of appropriacy in the form 
or structure involved in a writing task.

			   The response is to be treated as a literary creation.
			   expression-
	 	 	 •	 Logical progression in developing the conversation
			   - cohesion
	 	 	 •	 Response relevance for overall sense according to the situation chosen
			   - coherence
	 	 	 • Accuracy in use of grammatical structures, vocabulary and spellings
	(A)	 Extrapolating via dialogue writing
		  Accept relevant responses corresponding to the competencies listed for content and expression.
� (1 × 5= 5 marks) [CBSE Marking Scheme, 2020]

	Detailed Answer:
	 Natalya:	 Oh my God! Did I hear you right when you called my mother 'hump backed'?
	 Lomov:	 Yes, Of course! She was hump-baked 
	 Natalya:	� And what do you have to say about your family? It's so mean of you talking like that. Your 

head is swirling, you're seeing strars in front of your eyes and even then you're talking ill 
of my family!

	 Lomov:	� Don't start another fight. Never mind about me, I'll be alright in some time but your mother 
wasn't able to do any thing about it.

	 Natalya:	� You are geting on my nerves! Ivan. Another word and I will throw you out of the house.
	 Lomov:	 It is the only thing I can expect from such an ill-mannered lady like you Hugh!

OR

	(B)	 Competency applied for :
			   content-
	 	 	 •	 Required to display understanding of the variation of a common aspect, across the texts. 

(Movement of response from common element to the differences.)
	 	 	 •	 Support of / reference to textual evidence 
			   expression-
	 	 	 •	 Applying logical progression, using appropriate linking devices (words/phrases showing 

comparison/contrast are expected to be a part of this answer- whereas, on the other hand, as 
opposed to etc. as they impact expression)

			   cohesion-
	 	 	 •	 Response relevance and an appropriate conclusion to achieve coherence
	 	 	 •	 Accuracy in use of grammatical structures, vocabulary and spellings
		  NOTE—Paragraphing recommended. Just listing of points shall result in deduction of 1 mark allotted 

for cohesion & coherence.
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		  – Both need help
		  – In The Black Aeroplane, he is helped by a stranger in a black aeroplane in the storm, without lights
		  – steered through the dark clouds; was told there was no other aeroplane in the air other than his
		  – wasn’t clear who helped him
		  – open to interpretation
		  – help is not asked for but he receives it.
		  – is thankful
		  – In A Letter to God-different nature of aid
		  – Lencho writes a letter to God asking for money; his conviction in God touches the postmaster
		  – postmaster raises money and sends it to him.
		  – He asks for help
		  – the source of his aid is clearly revealed
		  – not satisfied� (1 × 5= 5 marks)

[CBSE Marking Scheme, 2020]

	Detailed Answer:

		�  Both Lencho and the pilot of the Dakola plane needed help and there is no doubt that both of them 
received the help too. But still there is a lot of difference between the help received by both of them.

		�  In 'The Black Aeroplane' the pilot was caught in the storm and it was difficult to come out of it. But 
suddenly, out of nowhere, a black aeroplane appeared and helped him come out of the storm. The 
black aeroplane was without lights but it steered the pilot through the dark clouds. He landed at an 
airport . He was so happy. He decied to thank the pilot of that mysterious aeroplane but was told by 
the lady in the control room that there was no other aeroplane in the air other than his. It is a mystery 
which was not resolved. The only thing was that he received an unexpected help and was thankful 
for it.

		�  On the other hand in A letter to God, Lencho  was needed help in the form of pesos to look after his 
family. He wrote a letter to God and asked for hundred pesos. His conviction touched the postmaster 
who raised money from his staff and sent it to Lencho. In this case, Lencho received help as he had 
asked for it. The source of his aid has clearly been revealed whereas it was not revealed in the case of 
pilot unlike the pilot in 'The Black Aeroplane', Lencho is not happy and satisfied with the help that he 
had received.

	 13.	 Footprints Without Feet� 1 × 5= 5 marks
			   Content = 3 marks
			   Expression = 2 marks (1 mark-grammatical accuracy, appropriate words and spellings + 1 mark-

cohesion via connecting ideas, logical progression & coherence through relevance of ideas)
		  (A)	 –	 despite knowing that the money had been taken (dampness of notes) Anil chose to remain 

quiet about the matter
			   –	 pretended that all was normal- realized that Hari Singh’s honesty had prevailed over his 

temptation
			   –	 wanted to reward him/ encourage him-discussing the theft would have been 

counterproductive.� (1 × 5= 5 marks)
		  Competency applied for :
			   content-
	 	 	 •	 Required to display clear rationale and evaluation in order to build on the mentioned 

statement—Decode the statement; apply it to the response.
	 	 	 •	 Support of / reference to textual evidence 
			   expression-
	 	 	 •	 Applying logical progression, using appropriate linking devices (words/phrases showing 

cause & effect, emphasis and illustration are expected to be a part of this answer- therefore, 
consequently, as revealed by etc. as they impact expression)
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			   - cohesion
	 	 	 •	 Response relevance and an appropriate conclusion to achieve coherence
	 	 	 •	 Accuracy in use of grammatical structures, vocabulary and spellings
		  NOTE—Paragraphing recommended. Just listing of points shall result in deduction of 1 mark allotted 

for cohesion & coherence.

[CBSE Marking Scheme, 2020]

	Detailed Answer:

		�  Anil was a large-hearted person he realized, from the dampness of notes, that Hari Singh had tried to 
steal the money but since he came back and kept the money back at its place, made Anil realize that 
Hari Singh was sorry for his act. So, he decided to remain quiet about the matter. He pretended that 
all was normal and nothing had happened. Anil decided to give him another chance as it had dawned 
upon him that Hari Singh's honesty had prevailed over his temptation. He knew that the discussion 
of the theft would be counter productive so in order to encourage and reordered him. He didn't hand 
him over to the police and 'neither his lips nor his eyes showed anything'.

OR

		  (B)	 Competency applied for :
			   content-
	 	 	 •	 Required to display a clear growth part of the character to bring out the change
	 	 	 •	 Support of / reference to textual evidence
			   expression-
	 	 	 •	 Applying logical progression, using appropriate linking devices (words/phrases showing 

emphasis sequence etc. are expected to be a part of this answer- as revealed by, initially, later, 
finally etc. as they impact expression)

			   - cohesion
	 	 	 •	 Response relevance and an appropriate conclusion to achieve coherence
	 	 	 •	 Accuracy in use of grammatical structures, vocabulary and spellings
		  NOTE—Paragraphing recommended. Just listing of points shall result in deduction of 1 mark allotted 

for cohesion & coherence.
			   –	 The evolution process supported by examples from the text:
			   –	 dumb cow- people’s perception of her lack of sense, stammering which kept her quiet and 

submissive demeanour, most of the times
			   –	 going to school----guidance of the teacher and education, overcame stammering- instilled 

confidence and a sense of self-esteem
			   –	 Did not succumb to the greedy demands of the prospective groom and spoke out.
			   Conclusion:
				    This journey of Bholi’s growth clearly showcases the idea of being an individual and not being 

exploited by people or circumstances. Instead, evolves to being a person being proactive and 
contributing to the wellbeing of others around (which is exactly what she decides to do)

� (1 × 5= 5 marks) [CBSE Marking Scheme, 2020]

	Detailed Answer:

		�  The journey of Bholi from a 'dumb cow' to a master piece' clearly showcases the idea of being an 
individual and not being exploited by people or circumstances Bholi, the youngest family, was slow 
for her age. She stammered when she spoke, she had pock marks or her face and above all, her our 
family neglected her. She was taken as a burden. She had lost her a child with submissive demeanour. 
She had lost her self-esteam but later regained it when she started going to school. Her teacher's 
guidance and education motivated her. Finally, she overcame her stammering which consequently 
instilled her confidence. She did not succumb to the greedy demands of the prospective groom and 
spoke out. She emerged as a polished piece of gem.




